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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-10_0
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P3-10

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS ERR

07:20 283 150.0 2.888 B FhHA@O7:20 KENFEF (RAA{REEE)
07:55 283 150.0 2. 888 Ag| TnHRe07:55 KENFEF (KAEES)
08:55 283 150.0 2.888 FA| FnHe08:55 REFEF (RFERES)
09:45 283 150.0 2.888 FA| FnHR@09:45 KRENFEZF (FREEREER)
10:25 283 150.0 2.888 FA| FhHA@10:25 KREFEF (KRAATEREES)
11:00 283 150.0 2. 888 FA| FnHRe11:00 REAFRF (REERES)
11:35 283 150.0 2.888 FA| FnHfe11:35 REFEF (REEREE)
12:10 283 150. 0 2.888 FE| FnHA@12:10 KRENIZERF (CGRFA{ERSE)
12:45 283 150.0 2.888 FA| TnHRe12:45 REFEF (REAEREES)
13:20 283 150.0 2.888 FA| FnHR@13:20 REFEF (REEREE)
13:55 283 150.0 2. 888 FA| FHA@13:55 KEFEF (KRR
14:30 283 150.0 2. 888 FH| hHA@14:30 KREFEF (RATREES)
15:10 283 150.0 2. 888 FH| FhHA@15:10 KREFEF (RATREES)
15:55 283 150.0 2. 888 FA| FHA@15:55 KEFEF (KRS
16:50 283 150.0 2. 888 FH| ThHA@16:50 KEFEF (KRAATREES)
Bit| 4245.0 (15%%) 2250.0 3 WUFHKEC: 2080.0, PH: 5.8

FEIKRECE (1773.0 vs 3283.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-10_0, Day=64 (2025-06-05)
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P3-10

BflE) | GEBRTK (3 | ERE(EA/K) | EREE(B/R) | XS IR

07:10 288 150.0 2.888 BS| 1Ri%e07:10 Bz (GREMEESE)
07:50 288 150. 0 2.888 BE| 1Ri%e07:50 B3h (REMEESE)
08:50 288 150. 0 2.888 BE| {Ri%@08:50 Bz (REfEEE)
09:40 288 150.0 2.888 BS| 1Ri%e09:40 Bz (GREMEESE)
10:25 288 150. 0 2.888 B 1Ri%e10:25 Bzh (GREMEESE)
11:05 288 150. 0 2.888 BE| {Rige11:05 Bz GREAERSE)
11:45 288 150.0 2.888 BS| Riget11:45 Bz GREAEERSE)
12:25 288 150. 0 2.888 B 1Ri%e12:25 Bz GGREEESE)
13:10 288 150. 0 2.888 S| Ri%e13:10 Bz (GRE{EEEE)
13:55 288 150.0 2.888 BE| 1Rige13:55 Bzh (RFMERSE)
14:30 288 150.0 2.888 BS| 1Ri%e14:30 B3 (GREMEESE)
15:10 288 150.0 2.888 | {Rige15:10 Bzh (REERKSE)
15:50 288 150.0 2.888 BE| {Rige15:50 Bz CGREEESE)
16:40 288 150.0 2.888 BS| 1Ri%e16:40 Bz (GGREMEESE)
21t 4032.0 (14)%) 2100.0 32#KEC: 2080.0, PH: 5.7

FERRNEREEFEBART (187.0 : 144.0), AgEHF—RE XAHS
ZRIAEBRIERE144.0 ml.



P3-10_0, Day=63 (2025-06-04)
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P3-10

BYiE) | GEBATIC () | EBE (EA/) | EREE(B/R) | XS ERE

08:05 300 150.0 2.888 A5 {Ri%@08:05 Fzfi (KRFFEEE)
08:50 300 150.0 2.888 B 1Rige08:50 Fzh (REEEE)
09:45 300 150.0 2.888 BS| 1Ri%e09:45 Fzh (GREMEESE)
10:35 300 150.0 2.888 RS Ri%@10:35 Fzi (KREAERESR)
11:20 300 150.0 2.888 B 1Rige11:20 Fzh (REERESE)
12:00 300 150.0 2.888 S| Rige@12:00 Fz (REAEHE)
12:45 300 150.0 2. 888 BE| 1Ri%e12:45 Fzh (GRS
13:35 300 150.0 2.888 sl {Ri&e13:35 Fz (REAEHE)
14:25 300 150.0 2.888 RS Rige14:25 Fz (REAEHE)
15:15 300 150.0 2. 888 B Rige15:15 Fz (REERSE)
16:05 300 150.0 2.888 sl {Ri&e16:05 Fz (REAERHE)
=23+13300.0 (117%) 1650. 0 32 FE&KEC: 2080.0, PH: 5.6

FERRNEREEFEEART (184.0 : 144.0), AgEHF—RE XA 85
ZRIAEBRIERE144.0 ml.



P3-10_0, Day=62 (2025-06-03)
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Warning: lcol [FVI',| "FVO’'] missing 40
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing
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optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-10

BYiE) | GEBATIC () | EBE (EA/) | EREE(B/R) | XS ERE

08:30 288 150.0 2.888 A5 {Ri%@08:30 Fzf (KRFFEEE)
09:15 288 150.0 2.888 RS {Ri&e09:15 Fz (REAEHE)
10:00 288 150.0 2.888 BS| 1Ri%e10:00 Fz1 (GREEESE)
10:50 288 150.0 2.888 RS Ri%@10:50 Fzi (KREERESR)
11:50 288 150.0 2.888 B 1Rige11:50 Fzh (REERESE)
12:35 288 150.0 2.888 RS Rige12:35 Fz (REAEHE)
13:15 288 150.0 2.888 |Z=| {Ri&e13:15 Fz (KEEZHE)
14:00 288 150.0 2.888 |&Z=| {Ri%e14:00 Fz1 (KEEZEHE)
14:45 288 150.0 2.888 |Z=| {Rige14:45 Fz1 (KREEZEHE)
15:30 288 150.0 2.888 |Z=| {Ri&e15:30 Fz1 (KEAEZEHE)
16:25 288 150.0 2.888 |Z=| {Ri%e16:25 Fa) (KEEHE)
23+ 3168.0 (11)%) 1650. 0 32 FE&KEC: 2080.0, PH: 5.6

MEREHLER 2 5 EIEARTF (195.0
ZRIALBRIERE153.0 ml.

HEEKECE (1907.0 vs 3247.0) 15

153.0), AlEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=61 (2025-06-02)

150 e T/ —/——— i
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-10

BYiE) | GEEBERTIC (RD) | EBE (BAH/FK) | BBREE (BF/R) | X8 ERF

10:00 288 150.0 2.888 |Z=| {Ri&e10:00 Bz (KEAEHSE)
11:20 288 150.0 2.888 FA| 1Ri%@11:20 B3h (kAERRSE)
12:20 288 150.0 2. 888 FE| 1Ri%e12:20 Bz (kABERSE)
13:40 288 150.0 2.888 FA| {Ri&@13:40 Bzl (GkRAEEEE)
Bit]1152.0 (%) 600. 0 3EUHKEC: 2080.0, PH: 5.6

FERRNEREEFEEART (187.0 : 150.0), AgEHF—@E XAH5

ZRIAEBRERE150. 0 ml.

HEEHECE (2007.0 vs 3840.0) 15




P3-10_0, Day=60 (2025-06-01)
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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